2 2 %
Cigi2) 106 %1% FrEAqPRLH T » B B p
E: b o5 - %
106#% 27 S%-FHLHE ¥ 2 £ %
*— i RFE
SR EEETRFRLG R AR F Q10 0.1%
~ BRI FR LR AL X Niog 3.291%
I8
1048 - SJRAFFR LT+ 53,*% N104=(N103+E102)%(14N;,) 5,324,921,216
1035 £ fex e o SR A TR A £103 13,183,676
ES IR %]
10548 — S pRAE TR 44 3§ % WIF N105=(N104+E103)%(14N;5) 5,519,653,839
103# & FRIFFAT 3*% FAFEL gy 29,594,349
ERIN ¥
106 — 4 pRAxT R 61 % * A3 N106=(N105+E104)%(1+N;6) 5,731,873,946
1058 5 FEBEETHFREH LY Q105=(N104+E103)%*Q; 5 5,338,105
1064 58 G g 5B b/ d Q106=(N105+E104)%*Q; 45 5,549,248
105# +106F & R T2 FH &1 % Q105+Q106 10,887,353
¥ % - LRIE OPD106=N106-(Q105+Q106) 5,720,986,593
RF % BRI L S 24.332874%
100~104% 34 T M BT 5 ¢ F h_q 23.349456%
Rep FPRMETION 2 & £IF 8 A Fe G QA=0PDL06 £ 3% g 5,489,771,870
FELIEGREF PRI F2 8
FAEH A Fe b R - BIRFE) 281,214,723
FARERTER B Rd R RETR
FEgk BC 19, 068, 476
o2 2 % (BG1) 2,025,212
A % A % (BG2) 3,493,991
¢ %A % (BG3) 1,664,945
% % A % (BG4) 2,656,515
$ 5 A % (BG5) 4,463,055
% % 4 % (BG6) 4,764,758
g g BF 7,797, 656
o2 2 % (BF1) 929,319
A % A % (BF2) 1,519,649
¢ %A % (BF3) 671,656
% % A % (BF4) 988,661
% B A % (BF5) 1,733,028
% % 4 % (BF6) 1,955,343
BEEW FRTRIEF FE > 5 HEFP 13 Uis)=(B6+(BF) 26,866,132
oA % =(BG1)+(BF1) 2,954,531
# % A T =(B62)+(BF2) 5,013,640
¢ % A % =(BG3)+(BF3) 2,336,601
% ¥ A % =(B64)+(BF4) 3,645,176
% & A % =(BG5)+(BF5) 6,196,083
% % A % =(BG6)+(BF6) 6,720,101
o F ; FRA EW HL MBS - RIPIE OPD_Gyg5=G_QAyg5-Ups 5,462,905,738
*RERT L 2ERY 94,300,000
FRE R B Focd ( 3785 121,500,000) 30,375,000
,,,,,,,,,,,,,,,,,,,,,,,,,,, &R Lk b %iﬁ?‘{%péﬁ“é'
1. % ¥ BB RFE
2. M B K I R S AU E (5 R GE (> & 37 5133, 000, 000) 33,250,000
RERIE G R ¥
4, ¥R G
RAZADRESTIE ( & 37 § 47,700, 000) 11,925,000
FO Ry S MR A PR 4 (3 # 7 5 25,000, 000) 6,250,000
B iad Ea LR (2 77 5 20, 000, 000) 5,000,000
Eilig VEMARZLFIFIPEERL . 47 £ 30, 000, 000) 7,500,000
SRR DB=0PD_G16%2. 22% 121,276,507
B EFE DT (>EF% 10,000,000
1T REE D1_D5=0PD_Gy¢5-D6-D7 5,331,629,231
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(1) 1065 £1% 9 FRORTFRALH L ® R ERm
o - %

ikl 95F F4F 1 98E H3F R EHRLEETE

forTpE L %

GA=(D1_D5)*69% 3,678,824,169

hE2 AR ERY S A OB F GB=(D1_D5)*11% 586,479,215
B3 AR ERBE T L AR F AL B

g 6C=(D1_D5 )% 479,846,631
4
a4 L ERY ARSI FSEF (DR FRT
ii;w £ () g_(;’;ﬂ FELF@EFRE 01 psyw 266,581,462
P S e
;@i;{'ﬁf; FLEARERETFETLTT 1y 266,581,462
dafE6: AR A T IEE B s GF=(D1_D5)*1% 53,316,292
il D T2% 9504-98034 M2 £ H £ E X RN  FENE 96Q1+9791+98Q1
SR 3,748,499,441
FRA 1,545,478,864
A 3,528,900,120
3 TAT 1,966,439,444
FEA T 3,189,713,132
13 12,979,031,001
R F EREEIRTRIS FEAE 28.8812%
S1=(Ail/TAil) s 11.9075%
SRR 27.1892%
A RAW 15.1509%
BEAT 16.8712%
1 100%
B2 ERd E R L B(Ai2) Sinm 105227
S 7,651,462
KR 3,651,332
SR 4,545,356
5 RAT 3,373,548
BEAT 3,721,318
13 23,943,016
PR T LRI ERD RIS PFA R 33.3499%
$2=(Ai2/ T Ai2) s 15.9148%
S RA R 19.8115%
ARA W 14.7040%
BEAT 16.2198%
13 100%
3 ERAERDE AN EARRERKLREL F PEADT 105#1-37
Bl 31 £ B E A 4 (a) SRR 893, 561
PR 405, 895
SRR 800, 373
554 ¥ 446, 214
354 ¥ 477, 041
LA T 54, 984
3,078, 068
otk 3 2 RRF 4 Hce s(b) 3,078, 068
otk 3: ¢ ¥ (Ai3)=(a/b) SEA 29. 0299%
KR 13.1867%
S E A 26. 0025%
54 ¥ 14, 4966%
354 ¥ 15, 4980%
13 98. 2137%
hFEBEFIERIERHEANLAFREIE AT 29.5579%
L# it ¥93=(Ai3/ T Ai3) AR 13.4265%
P RAF 26.4754%
RAF 14.7603%
BEA T 15.7799%
1 100%

Hifd L ERP AT FFEFOAFRE T IS
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() 1062 %157 FPLARFREAE* ARV IR
E:3 bl o5t - %

A F 2R 5 (p) oA -3.0376%
FEAF -2.6446%
PR -3.8230%
3 %A -2.8935%
B EAS T -3.3952%
FRprEESES (1) oA -1.1520%
rEAF -0.6679%
PR -2.7351%
3 %A% -1.9877%
B EAS -1.6303%
(p)- (r): oA -1.8856%
A -1.9767%
PR -1.0879%
3 %A -0.9058%
B EA T -1.7649%
| iE -1.9767%
% B -0.9058%
fh R4 oA T 0.0000%
A 0.0000%
PR 0.0000%
B EA T 0.0000%
B AT 0.0000%
AL L FaE A B2 E Y SRR T 3,748,499,441
Aid=(Ai DX (1+4p 448 E) A 1,545,478,864
PR 3,528,900,120
FEATR 1,966,439,444
B A AT 2,189,713,132
&3t 12,979,031,001
Eﬁ)‘;&} ‘&‘T“’*&*’E}(D)ﬂ?'ﬁ??")‘& ARA R 28.8812%
S$4=(Aid)/(ZAid) * RS F 11.9075%
P RAE 27.1892%
3 %A 15.1509%
BAELF 16.8712%
&3 100%

o TaARemygd REFArd Fiade | L K PEHE 105#11°*
3p &5 4 & {r( X dr_peop) S E 0.4522%
A ] 0.7023%
YRS E -1.7448%
EEAT -0.5913%
FEAE -0.3898%

XEAREF SIS B2 3FE (AiD)

;7“‘ /’7\ ‘;PV

3,765,450,155

=(AT1)*(1+4 51 12 ) A EAF 1,556,332,762
P EAE 3,467,327,871
EEAT 1,954,811,888
FEA T 2,181,177,630
&3t 12,925,100,306
i 5IA TEABERHI REF AR 29.1329%
S$5=(Aib)/(XAib) rPrHRAF 12.0412%
Y RATH 26.8263%
5 %A% 15.1242%
BELF 16.8754%
£y 100%
hEb LR L3 ad eI FEIAMEEY e 4, 664, 340
rEAFE 2,498, 689
PR 4,003,778
3 %A% 2,388, 771
BT 1,625, 871
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(i) 1062 5157 FrESEFREGT * QEFEEP

i 5P G 2o
2k 15, 181, 449
6 F A RLSFRRHEIFCHEILF) AT 28.8812%
PEATR 11.9075%
YERAR 27.1892%
AEAE 15.1509%
3EL % 16.8712%
o3+ 100%
B %A & £ 35 (RD=DT-R] 432,837
REFEBIATATR SR & ARG s AE 0
FPELSE 0
YERAR 9,567,163
L 0
BHELST 0
¥ RIEL
Gal=GA*SI SHA R 1,062,488,566
Ga2=GA*S1 A EA T 438,055,988
- Ga3=GA*S1 YR AR 1,000,242,861
Ga4=GA*S1 BEA TR 557,374,971
Ga5=GA*S1 BEA R 620,661,783
3+ 3,678,824,169
Gb1=GB*S2 SR 195,590,232
Gb2=GB*S2 A E AT 93,336,994
.-y Gh3=GB*S2 YR AR 116,190,330
Gb4=GB*S2 BEA T 86,235,904
Gh5=GB*S2 BEA T 95,125,755
3+ 586,479,215
Gc1=GC*S3 SR 141,832,587
Gc2=GC*S3 A E AR 64,426,608
3 Gc3=GC*S3 YR AR 127,041,315
Gc4=GC*S3 BEA T 70,826,802
Gc5=GC*S3 BEA R 75,719,319
3+ 479,846,631
Gd1=GD*S4 LAATE 76,991,925
Gd2=GD*S4 FEA R 31,743,188
$ie4 Gd3=GD*S4 YR AR 72,481,367
’ Gd4=GD*S4 3 RAE 40,389,491
Gd5=GD*S4 FEA T 44,975,491
3+ 266,581,462
Gel=GE*S5 S E 77,662,911
Ge2=GE*S5 FEA R 32,099,607
85 Ge3=GE*S5 P RAE 71,513,943
A Ge4=GE*S5 AERAH 40,318,313
Ge5=GE*S5 BEA TR 44,986,688
3+ 266,581,462
Gf1=(GF — XAi6)*S6 SR 11,013,800
Gf2=(GF —ZAi6)*S6 rEA T 4,540,906
b6 Gf3=(GF —XAi6)*S6 dOR A E 10,368,559
o Gf4=(GF — LAi6)*S6 8 EA T 5,777,772
Gf5=(GF — X Ai6)*S6 BEA TR 6,433,806
3+ 38,134,843
PH: oiAL % - RIRIFTEE A Gal+Gb1+Gcl+Gd1+Gel+Gfl 1,565,580,021
PP %A - RRBTEERE Ga2+Gh2+Gc2+Gd2+Ge2+GF2 664,203,291
P8 %A% SIRTFTEE NI Ga3+Ghb3+Gc3+Gd3+Ge3+Gf3+G 1,407,405,538
PY e %d % RIRIFTFEENIE Gad+Gba+Ged+Gda+Ged+Gfa 800,923,253
PY I REA - RIRIFTEE NI Ga5+Gh5+Gc5+Gd5+Ge5+Gf5 887,902,842
P AT A % - SORBTEE R D6=0OPD_G106*2.22% 121,276,507
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